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ENGLISH LANGUAGE

The antonym of humility is
(A) meekness (B) effacement
(C) humbleness (D) pride

The synonym of hazard is

(A) funny (B) peril

(C) secure (D) headlong
Manish has been ill morning.
(A) since (B) for

(C) till (D) wntil

He asked his brother he had
stolen his pencil,

(A) if (B) that

(C) which (D) None of these
You and | playing at the
moment.

(A) is (B) am

(C) are (D) was

I am so late today, I?

(add question tag)

(A) aren’t (B) isn't

(C) amn't (D) am

My uncle told that the rotten
tomatoes give a bad smell.

(Use correct preposition)
(A) of (B) off
(C) with (D) by

cloudy weather, all the
flights were cancelled.
(A) Because of (B) Instead of -
(C) Accordingto (D) With a view to

Give the Adjective of ‘boy’.
(A) boyful (B) boyfull
(C) boyish (D) Boyly
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The first commercially prog,ced
computer was
(A) 1BM

(C) UNIVACI

(B) MIPS
(D) EDSAC

The first page that you normally yjew
at a website is

(A) Home Page
(C) View Page

(B) Master page
(D) Banner page

In computer, what is the full form of
CPU?

(A) Central Picture Unit

(B) Central Processing Unit

(C) Computer Processing Unit

(D) None of these

Sucrose is the disaccharide which
made up of

(A) a-D-glucose and (-D-fructose

(B) o-D-glucose and 3-D-galactose
(C) o-D-glucose and B-D-glucose

(D) P-D-glucose and a-D-fructose

The light absorption in U.V. region

produces change in
(A) The vibrational energy of the

molecule
(B) The electronic energy of the

molecule
(C) The rotational energy of the

molecule
(D) All the three energies of the

molecule

Penicillin has a beta-lactam ring fused

to
(A) Oxazilidine ring
(B) Thiazolidine ring
(C) Triazole ring

(D) Thienylring
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Addison’s disease is caused by
(A) Thyroid insufficiency

(B) Adrenocortical insufficiency
(C) Dopamine insufficiency
(D) Acetylcholine insufficiency

The following hormone releases from
posterior pituitary gland :

(A) GH hormone
(B) Cortisol
(C) Testosterone
(D) Oxytocin

The following is antipsychotic drug
having Phenothiazine ring :

(A) Haloperidol
(C) Phenytoin

(B) Chlorpromazine
(D) Pimozide

The following is an example of prodrug :
(A) Captopril (B) Dipivefrine
(C) Amlodipine (D) Paracetamol

The volume of air can be breathed out
of forced expiration after taking
forced inspiration is called

(A) Tidal volume

(B) Total lung capacity

(C) Vital capacity

(D) Force expiratory volume

A solution that exerts the same
pressure with body fluid is termed as

(A) Hypertonic
(B) Hypotonic
(C) Isotonic
(D) All
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The following vitamin is also kn
anti-ricket :

(A) Vitamin B
(B) Vitamin A
(C) Vitamin C
(D) Vitamin D

Own as

In which city of Haryana, the tomb of
Ibrahim Lodhi is situated ?

(A) Hisar (B) Panipat
(C) Bhiwani (D) Faridabad

The ancient name of Mahendragarh
was

(A) Jayantipuri
(C) Panchampur

(B) Nar Rashtra
(D) Kanoud

Which of the following pair is correctly
matched ?

(A) Rakhigarhi— Regal Crown

(B) Kunal— Ploughed Fields

(C) Banawali— Largest Indus Valley Site

(D) None of these

Thanesar of Haryana was the capital
of which king ?

(A) Harshvardhan

(B) Chandragupta

(C) Sskandgupta

(D) Hemchandra

following states |is

ich of the
Whit th of Haryana ?

located to the Nor
(A) Maharashtra
(B) uttar pradesh

(c} Kerala
(D) Himachal Prades’
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Where is the biggest animal

hUSbandrv farm of Asia situated at
Haryana »

(A) Hisar

(B) Karnal

(C) Panipat

(D) Yamunanagar

Aravalli Ranges are passing through
from which part of Haryana ?

(A) Northern (B) Southern
(C) Eastern (D) None of these

Chandigarh was planned by
(A) Nekchand Saini

(B) John Jonathan

(C) Corbusier

(D) None of these

Khwaja Altaf Hussain Haali of Haryana
was a

(A) Poet
(C) Film Actor

(B) Politician
(D) None of these

In which year Haryana
Academy was established ?

(A) 1965 (B) 1972
(C) 1970 (D) 1983

Sahitya

Which of the following is important
‘Eco-Park’ of Haryana ?

(A) Kalesar Wildlife Sanctuary

(B) Sultanpur Bird Sanctuary

(C) Bhindawas Wildlife Sanctuary

(D) Nahar wildlife Sanctuary

Haryana Power Generation Corporation
Ltd. is formed in

(A) 1982
(C) 1997

(B) 1990
(D) 1999
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The State bird of Haryana is
(A) Peacock

(B) Pigeon

(C) Parrot

(D) Black Francolin

Famous bollywood actress juhi
Chawala belongs to which district of
Haryana ?

(A) Ambala

(C) Rohtak

(B) Hisar
(D) Sonipat

In Haryana, fair of Shitla Mata is
organized in which of the following

district ?
(A) Hisar
(C) Gurugram

(B) Ambala
(D) Panipat

Which one of the following is 22"
district of Haryana ?

(A) Panipat
(B) Charkhi Dadri
(C) Palwal
(D) Sonipat

‘Mission Indradhanush’ scheme is
related with which department of

Union Government ?
(A) Health and Family Welfare
(B) Education

(C) Transport
(D) None of these

Which of the following is not included

in 10 new sub-divisions of Haryana ?
(A) Badkhal (B) Narnaund
(C) Munak (D) Badii
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WHho is the Health Minister in Haryana
Government ?

(A) Shri Anil vij

(B) Shri Banwari Lal

(C) Shri Ranjit Singh Chautala

(D) None of these

Which state was chosen as themé
state in 34" Surajkund International
Crafts Mela-2020 in Haryana ?

(A) Himachal Pradesh
(B) Maharashtra

(C) Kerala

(D) Tamil Nadu

Which of the following Sportspersons
of Haryana won the Gold Medal in
18" Asian Games ?

(A) Manjeet Singh
(B) Neeraj Chopra
(C) Both(A) & (B)
(D) None of these

Match the following :
(A) (B)
(Sportsperson) (Sports)

(a) Amit Panghal (i) Boxing

(b) Neeraj Chopra (ii) Javelin throw
(iii) Wrestling

(iv) Cricket

(c) Bajrang Punia

(@) (b) (c)
(A) (i) (i) (i)
(B) (iii) (i) (iv)
(C) (iv) (i) (i)
(D) (i) (iv) (i)
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Who is elected as the Speaker of 1
Loksabha in India ?

(A) Nirmala Sitharaman
(B) Om Birla

(C) Venkaiya Naidu

(D) Virendra Kumar

President of which country was the
Chief Guest of Republic Day 2020 ?

(A) China
(B) Russia
(C) Brazil
(D) Srilanka

World Milk Day is celebrated on
(A) June 5t (B) July 5™
(C) June 1% (D) 21% June

Who is known as the father of nuclear
physics ?

(A) 1.J. Thomson

(B) Newton

(C) Albert Einstein
(D) E.Rutherford

Rotation of the Earth results in

(A) Day and Night changes

(8) Northern and Southern movement
(C) Seasonal changes

(D) Year changes

Ellora caves belong to the rule of
which of the following dynasty?

(A) Solanki (B) Pallavas
(C) Rajput (D) Rashtrakuta
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Who wrote the book india Wi

Freedom’ ?

(A) Sardar Patel

(8) Maulana Abul Kalam Azad
(C) Narayan Desai

(D) Jawaharlal Nehru

Which mirror is used in the headlights
of the cars ?

(A) Concave (B) Convex

(C) (A)and (B)both (D) None of these

Dada Saheb Phalke Award s
associated with

(A) Sports (B) Film

(C) Literature (D) Politics

While going office Shreya drove
towards South, then she took right
and then left and finally turned to left.
Which direction did she face at the
end ?

(A) North (B) East
(C) West (D) South
0, OM, POM, POMN,
QPOMNO, RQPOMNO

(A) QPOMN (8) RQOMN
(C) PROMN (D) QQOMN

P2P, R4R, , V8V. Complete
the series.

(A) T6T
(C) SEE

(8) D4D
(D) Fe6F

Choose the word which is different
from the rest.

(A) Midday
(C) Sunday

(B) Monday
(D) Tuesday

10
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In a line of 30 students, Jeet stood a4
20" position from left and Sweet,,
stood at 23" position from right. Hoy,

many students would be there
between them ?

(A) 16 (B) 11

(C) 23 (D) 12

Vishal is the brother of Brinda, Brind,
is the mother of Chinmay, Chinmay s
the brother of Dev. How is Visha)
related to Dev ?

(A) Maternal Uncle

(B) Father

(C) Maternal Grandfather
(D) Son

GEMANT : 123456 :: MEANT: ?

(A) 56573 (B) 35246
(C) 32456 (D) 56374

f A=1..E=5.. andso on and
GARIJ| = 45, then JIGAR = ?77?

(A) 52 (B) 45
(€) 35 (D) 49

SAHARA : TUWUVU :: AAHAR : 77
(A) UUWUV
(B) UUWUW
(C) UVUWW
(D) UUVWW

The number V2 is
(A) Rational
(C) Natural

(B) Irrational
(D) Integer

If a and b are prime numbers, then

ged (a,b) is
(A) 1 (B8) ab
() a (D) b
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If the one root of the equation
X2 —kx + 8 = 0is4, thenk =

(A) 7

(B) 4

(C) 6

(D) None of these

The solution set of x+y =1 and
x—=y=-1is
(A) {(0,1)}

(C) {(0,-1)}

(8) {(1LO)}
(D) {(-1,0)}

The speed of a motor boat in still
water is 25 km/hr. In a river, it goes 60
km downstream and comes back the
same distance upstream in 5 hours.
Find the speed of the current.

(A) 7 km/hr
(B) 8 km/hr
(C) 9km/hr
(D) None of these

In triangle ABC, AD is the altitude and

angle A is right angle. If AB = V20,
BD = 4, thenCD =
(A) 1
{C) :5

(B) 2
(D) 4

The probability of an impossible event
is

(A) 1 (B) —1
(C) 0 (D) None of these
The volume of the sphere with
diameter 2 cm is cm?,

4 2
(A) o (B) T

1
(C) 3 (D) None of these
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(A) 7

(B) 4

(C) 6
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x+y=1 WM x—-y=-1 & T
FE=A R

(A) {(0,1)} (8) {(1,0)}
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(A) 7 km/hr

(B) 8km/hr

(C) 9 km/hr

(D) 3H & 1§ A

fs ABC # AD F=mé 2 IR =W A
qu#Iv & | afe AB = v20,BD = 4,7
CD =
(A) 1
(C) 5

-

(B) 2
(D) 4
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f3+5+7+9+ - upton terms =
288, thenn =

(A) 13
(C) 15

(B) 14
(D) 16

Which of the following represents
Hydronium ion ?

(A) 0}
[C] H30++

[B:, H*+
(D) H,0*

Due to which property of metals school
bells make sound on striking ?

(A) Porous

(B) Sonorous

(C) Hard

(D) None of these

Which of the following is always equal
to angle of incidence in case of

reflection ?

(A) Angle of Refraction
(B) Angle of Reflection
(C) Angle of Polarization

(D) Angle of Normal

According to Ohm’s Law, the electric

potential difference across two points

of a resistor is electric current

flowing through it.

(A) always twice than

(B) inversely proportional to
(C) directly proportional to

(D) always thrice than
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In which appliance heating effect of

electric current is used ?
(A) Electric Iron

(B) Electric Room Heater
(C) Electric Water Heater
(D) All of these

What is the direction of magnetic field
lines inside the bar magnet ?

(A) From North to South

(B) From South to North

(C) From East to West

(D) From Centre of Magnet to its Ends

Which organ stores urine in human
body ?

(A) Kidney (B) Uterus
(C) Urinary Bladder (D) Urethra

Resins and gums stored in old xylem
are

(A) waste products of plant body

(B) extremely useful products of
plant body

(C) required for future growth of
plant body

(D) waste products of animal body

How do nervous tissues conduct:

information from one part of body to
the other in human body ?

(A) Via electrical impulses
(B) Viablood

(C) Viablood plasma

(D) Via Xylem tissue
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